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]
How much is...
a) 10% of 539 Euros = 53 Euros 90 Cents b) % of 10 h =1 h 30 min
c) 0.2 parts of 563 m = 112 m 6 dm d) 50% of 22 Cents = 11 Cents
e) 70% of 1 h = 42 min f)10f132m:66m
g) 71% of 875 kg = 621 kg 250 g h) % of 355 dollars = 177 dollars 50 cents
i) 3 5 of 45 Cents = 27 Cents j) % of 355 Euros = 113 Euros 60 Cents
2)
How much is...
a) % of 34 cents = 17 cents b) 0.5 parts of 76 cents = 38 cents
¢) 0.6 parts of 194 dollars = 116 dollars 40 cents
d) 0.5 parts of 68 cents = 34 cents e) % of 84 cents = 42 cents
f) % of 356 dollars = 249 dollars 20 cents g) 0.6 parts of 55 cents = 33 cents
h) 0.5 parts of 78 cents = 39 cents i) 0.5 parts of 76 cents = 38 cents
j) 50% of 42 cents = 21 cents
3)
How much is...
a) 35 of 873 kg = 611 kg 100 g b) 15 of 678 kg = 474 kg 600 g
c)%oncm—élmm d)§0f7dm:4dm20m
e) % of 431 cm® = 25 cm?® 860 mm? f) % of 773 Euros = 386 Euros 50 Cents
g) 25 of 664 t = 451 t 520 kg h) o of 296 cm?® = 74 cm?
i) 1(5) of 58 Euros = 23 Euros 20 Cents j) % of 6 cm = 3 cm
4)
How much is
a) 35 of 568 cm® = 511 cm?® 200 mm? b) 3 of 604 cm® = 302 cm?
c) % of 910 em® = 455 cm?® d) 11090 of 683 litres = 129 litres 770 cm?
e) 25 of 917 m3 = 513 m? 520 litres f) £ of 285 mm? = 57 mm?
g) 2 of 123 em? = 92 cm?® 250 mm? h) 25 of 980 cm® = 490 cm?
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Solutions to smp-3400-1/HGXH

i) % of 102 litres = 36 litres 720 cm? j) % of 990 litres = 693 litres

Good Luck!
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